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FOREWORD 

The National Examination Council of Tanzania (NECTA) is pleased to issue the 

Candidates’ Item Response Analysis Report (CIRA) for the Advanced Secondary 

Education Examination (ACSEE) 2021. The main aim of this report is to provide 

feedback to educational administrators, teachers, students and other educational 

stakeholders about the performance of the candidates in the Commerce subject.  

 

The overall performance of the candidates in Commerce subject was good as 1,351 

(99.85%) candidates passed the examination getting different grades (A to S). Only 

2 (0.15%) candidates failed by scoring grade F. The analysis presented in this 

report shows that out of 14 topics examined, 12 topics had good performance and 

only 2 topics had average performance.  

This report provides some of the reasons that made the candidates to score high 

marks in the questions. These reasons include: ability to interpret demands of the 

question, adequate knowledge on the subject matter and the ability to relate the 

questions with real life situation. Furthermore, the report shows some difficulties 

that candidates experienced in responding to some questions. The challenges 

include incompetence on the topics examined, misinterpretation of some concepts 

and poor mastery of essay writing skills.  

The Council believes that this report will enable educational administrators, school 

managers, teachers and students to identify proper measures to be taken in order to 

improve teaching and learning process in Commerce subject. The council insists 

that stakeholders should implement the recommendations given in this report so as 

to improve the academic performance in future examinations.  

Finally, the National Examinations Council of Tanzania would like to thank 

examiners, examinations officers and everyone who participated in the preparation 

of this report. 

 

 

 
 

Dr. Charles E. Msonde 

EXECUTIVE SECRETARY 



1 

1.0 INTRODUCTION 

The Commerce examination consisted of two (2) papers: 152/1 Commerce 

1 and 152/2 Commerce 2. The examination tested the candidates’ 

competences as stipulated in the Commerce syllabus for Advanced Level 

Secondary School which was issued in the year 2010 and it used the 2019 

Revised Examination Format.  

 

Each paper had seven (7) essay questions. In both papers the candidates 

were required to choose five (5) questions. However, question number one 

(1) was compulsory in both papers. Each question carried twenty (20) 

marks. 

 

The analysis of examination results shows that 1,355 (100%) candidates sat 

for this examination whereby 1,351 (99.85%) passed while 2 (0.15%) 

candidates failed. The results for 2 candidates were withheld. When 

compared to ACSEE 2020 results there was a decrease of 0.08 percent in 

the candidates’ performance in 2021. In 2020, a total of 1,341 (99.93%) out 

of 1,342 candidates passed and only 1 (0.07%) candidate failed. 

 

The performance of the candidates in each question and each topic is 

categorised as good, average and weak. The performance of candidates in 

each question is regarded as good if the score ranges from 12 to 20 marks, 

average if the score ranges from 7 to 11.5 marks and weak if the score 

ranges from 0 to 6.5 marks out of 20 allocated marks. Three colours: green, 

yellow and red colours have been used to indicate levels of performance as 

good, average and weak respectively.  

 

The samples of correct and incorrect responses in each question from 

different candidates are shown and a summary of the candidates’ 

performance in each question is given in this analysis report. 
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2.0 ANALYSIS OF THE CANDIDATES’ PERFORMANCE IN EACH 

QUESTION 

 

2.1 152/1  COMMERCE PAPER 1 

2.1.1 Question 1: Stock Exchange 

The question was set from the topic of Stock exchange. It was a compulsory 

question which was attempted by a total of 1,355 (100%) candidates. The 

candidates were required to explain the involvement of Dar es Salaam Stock 

Exchange in the development of Tanzanian economy.  

The general performance of the candidates in this question was good 

because out of 1,355 candidates who attempted the question 726 (53.6%) 

scored from 12 to 20 marks, 464 (34.2%) scored from 7 to 11.5 marks and 

165 (12.2%) scored from 0 to 6.5 marks. This performance is summarised in 

Figure 1.  

 
 

Figure 1: Candidates’ performance in question 1 

 

A total of 1,190 (87.8%) candidates scored from 7 to 19.5 marks as 

indicated in figure 1.  

 

Majority of the candidates 726 (53.6%) scored from 12 to 20 marks as they 

were able to explain the contribution of Dar es Salaam Stock Exchange in 
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the development of Tanzanian economy. The analysis shows that most of 

the candidates managed to explain how the Dar es Salaam Stock exchange 

(DSE) contributes towards the development of Tanzanians’ economy. 

However, the variation in their scores was caused by the candidates’ ability 

to elaborate the correct points. Some candidates explained five out of the 

required six points correctly. Furthermore, some candidates did not score 

any marks on the conclusion part because they did not show the conclusion 

part in their essay. Extract 1.1 is a sample of the response from one of a 

candidate who scored high marks. 
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Extract 1.1: A sample of a correct response to question 1 

 

In extract 1.1 the candidate was able to explain the contribution of Dar es 

Salaam Stock Exchange in Tanzania’s economy. 

 

The analysis shows that 464 (34.2%) candidates whose scores ranged from 

07 to 11.5 marks were able to explain three to four points though their 

explanation on some of the points were not enable them to score full marks. 

The correct points given by these candidates include employment 

opportunity, source of government revenues, advertising and saving. Some 

of these candidates were not able to link their explanations with the demand 

of the question. Moreover some of these candidates provided unsatisfactory 

explanation to some of the points. One of the candidates for example 

provided the point of investment, which was correct but the explanation 

was incorrect. She/he wrote to invite people from Kenya to invest in coffee 

production, which does not show the link of the stock exchange with 

investment in coffee production. Other candidates provided partial 

explanations to the correct points. 
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Despite good performance in this question, 165 (12.2%) candidates scored 

low marks ranging from 0 to 6.5 marks. The differences of the scores was 

attributed to inadequate knowledge of stock exchange, insufficient number 

of correct points and wrong interpretation of the question. Some candidates 

scored some marks as they were able to introduce the question and 

highlight a few correct points. Many candidates in this group were able to 

give the meaning of stock exchange in the introduction and provide some 

correct points but gave unclear explanations. Majority of these candidates 

provided the point on employment opportunity but they could not provide 

explanations on the point according to the demand of the question.  

Other candidates linked the point of setting the price for every security with 

the types of jobbers as members of the stock exchange such as stags, 

speculation and bulls. Some candidates misinterpreted the question because 

they considered the word stock from the question as goods instead of 

shares, bonds and securities. One of the candidate for example wrote: 

Goods in Dar es Salaam Stock exchange are bought and sold at low price, 

many people from different parts in and outside Tanzania buy and sell 

goods in Dar es Salaam, it create good relationship  and creates market for 

the goods. Some candidates explained the functions of stock administration 

such as: receiving stock, issuing of stock, placing of item and care of stock 

instead of explaining the contribution of the stock exchange to Tanzanian’s 

economy. Extract 1.2 is a sample of an incorrect response. 

 



7 

 
Extract 1.2: A sample of an incorrect response to question 1 

 

In extract 1.2 the candidate misinterpreted the question as exchange of 

goods and services instead of the market for the already issued shares and 

other securities are bought and sold.  

 

2.1.2 Question 2: Transportation and Communication 

The candidates were required to help a person who is in a dilemma to make 

a decision on whether to use tramp or liner ships to transport goods in 

export trade. The question tested the candidates’ ability to distinguish types 

of ship; tramp from liner ships to enable one who needs to use them to 

make judgement.  

The question was optional and was attempted by a total of 279 (20.6%) 

candidates. Among them, 187 (66.7%) candidates scored from 12 to 20 

marks, 71 (25.4%) scored from 7 to 11.5 marks and 21 (7.9%) scored from 

0 to 6.5 marks. Figure 2 summarises the candidates’ performance in 

question 2. 
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Extract 2.1 

 

Figure 2: Candidates’ Performance in Question 2 

Figure 2 shows that the candidates’ performance in this question was good 

since 257 (92.1%) candidates scored average and above. The candidates 

with good and average performance were aware of the types of ship and 

how they operate. They were able to distinguish the two types based on: 

freight charges, time for sailing and routes, the condition for departure, 

nature of ownership, goods carried and speed of the ships. This shows that 

the candidates had a good understanding of the concept examined. In the 

case of speed for example liner ships have higher speed compared to tramp 

ships. Likewise, liner ships are better than tramps in a sense that if needs a 

ship which has a high degree of accountability and responsibility on goods 

sailed as the supervision and control is higher in liners than in tramps. A 

few (2) candidates scored all 20 marks allocated. The extent of clarity of 

the points, the number of the point and essay writing procedure differed 

among individual candidates hence the marks variation. Extract 2.1 shows a 

sample of a response from the script of a candidate who scored high marks 

in question 2.  
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Extract 2.1: A sample of a correct response to question 2 

 

On the contrary, 7.9 percent of the candidates scored low marks in this 

question. Some candidates were able to give a correct introduction but the 

explanations given were unsatisfactory. Some of these candidates gave the 

rest of the points which based on either tramp or liner ships. Such 

explanations could not be helpful to Mr. Masika in marking the right 

decision on the right type of ship to hire. Furthermore, some candidates 

introduced the question correctly but interchanged the points. Some of 

these candidates for example explained that tramps are slow in speed 

compared to liners but confused their differences. These candidates did the 

same mistake on the point of ownership. One of the candidates who scored 

low marks wrote only one correct point and gave other points were on the 

difference between a fully loaded container and a less loaded container. 

Extract 2.2 is a sample of an incorrect response.  
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Extract 2.2: A sample of an incorrect response to question 2 

 

In extract 2.2 the candidate confused the difference between the tramp and 

liner ships hence Mr. Masika can make incorrect decisions based on this 

response. The candidate also lacked essay writing skills as he/she neither 

introduced nor concluded the work.  
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2.1.3 Question 3: Banking 

The question was set to test the candidates’ ability to assess the necessary 

factors a the bank loan officer for commercial bank loans like National 

Micro Finance Bank (NMB) has to consider before providing a loan to 

customers.  

The question was attempted by 1,187 (87.6%) candidates among them 844 

(71.1%) scored from 12 to 20 marks, 323 (27.2%) scored from 7 to 11.5 

marks and 20 (1.7%) scored from 3 to 6.5 marks. None of the candidates 

scored zero in this question. The question was well performed since 98.3 

percent of all candidates scored from 7 marks and above. Figure 3 

illustrates the candidates’ performance in question 3. 

 

Figure 3: Candidates’ Performance in Question 3 

 

The figure shows that 98.3 percent of all candidates scored from 7 to 20 

marks. These candidates were aware that before the commercial banks like 

NMB, CRDB, KCB and others in Tanzania provide loans to the customers 

they must have clear details of the customers. As a loan officer you need to 

know about the ability of the borrower to pay back the loan. Also you have 

to think about what will happen if borrower falls to repay the loan where 

the solution will be collateral security. You also need to know why the need 

for the loan?; that is the purpose of the loan. You must know if the business 
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or the project intended is profitable or not. You should also consider the 

issue of the age of the customer. Customer must have 18 years and above. 

These candidates in this category incorporated most of these factors in their 

responses. They were also aware that the bank officer needs to consider the 

reputation of the customers in terms of being trustworthy and the 

customer’s historical back ground; the amount of interest to be charged to 

customers and terms and conditions for loan repayment. Extract 3.1 is a 

sample of a response from a candidate who scored high marks. 
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Extract 3.2: A sample of a correct response to question 3 

 

The data analysis shows that 20 (1.7%) candidates scored low marks from 3 

to 6.5. Some of the reasons for candidates’ to getting low marks in this 

category include inadequate knowledge and inappropriate explanations on 

some of the points. Some of these candidates were able to provide at least 

two or three of the factors like: profitability of the business, customer’s 

ability to pay back the loan and the terms of loan repayment, collateral 

security, loan condition, purpose of the loan and applicants’ own capital 

but the elaborations they  provided were inadequate.  

 

Other candidates in this category gave a few correct points but failed to 

provide explanations that match with the demands of the question. One of 

the candidates for example, mixed explanations of the points like; knowing 

the characteristics of customers and the time to pay back the loan. The 

other reason for candidates failing was repetition of the point regardless of 

the correct or incorrectness of the point. Some of these candidates 

explained some points which were not appropriate: like the applicant’s 
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business location; the loan officer must instigate to know where the 

borrower planned to invest and they must be sure that the borrower has 

business knowledge and be able to record all business transactions in the 

books of account. These are not factors to consider when giving loan to a 

customer. Extract 3.2 shows a sample of an incorrect response. 

 

 
Extract 3.2: A sample of an incorrect response to question 3 

 

In extract 3.2 the candidate had idea of the requirement of the question but 

some of the points were not correct because the candidate’s responses 

based on the customer instead of the bank loan officer.  
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2.1.4 Question 4: The Concepts of Commerce 

The candidates were required to validate the statement that “Barter system 

did not exist for a long time”. It was intended to test the candidates’ ability 

to justify why batter trade did not take long a time by addressing the 

limitations of batter trade.  

The question was attempted by 959 (70.8%) candidates out of which 803 

(83.7%) scored from 12 to 20 marks, 108 (11.3%) scored from 7 to 11.5 

and 48 (5%) scored from 0 to 6.5 marks. Figure 4 summarises the 

candidates’ performance in question 4. 

 

 

Figure 4: Candidates’ Performance in Question 4 

The general performance of the candidates in this question was good 

because only 5 per cent of the candidates score below 7 marks. This shows 

that the candidates were knowledgeable on the sub topic of barter trade. 

 

The analysis shows that the candidates with scores that ranged from 12 to 

20 marks were able to meet the demand of the question though there were 

some slight were also noted on some of the candidates. Majority of the 

candidates’ responses portrayed their understanding of the concept of barter 

trade especially on the limitations. Some of these candidates could not 
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provide relevant examples to some of the points. Other candidates in this 

category mixed the explanations for standard of deferred with that of store 

of values. They failed to realize in the measure of value it is difficult to 

determine how much of a certain commodity is to be exchanged for a given 

quantity of another commodity whereas in store of value there are some 

commodities in exchange which cannot be kept for future use. Extract 4.1 

is a sample of correct response. 
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Extract 4.1: A sample of a correct response to question 4 

 

In extract 4.1 the candidate was able to validate the statement that “Barter 

trade did not exist for a long time” by using examples.  

 

Further analysis shows that 11.3 percent of the candidates who answered 

this question had average scores which ranged from 7 to 11.5 marks. Some 

candidates in this category were able to provide a few points with examples 

like double coincidence of wants, problem of portability and indivisibility 

to validate the statement. However, most of the candidates in this category 

faced a problem of differentiating the points that are used to validate the 

statement like: lack of measure of value, lack of store of value and lack of 

standard of deferred payments. Hence, they ended up confusing 

interchanging the explanations of the concepts and providing incorrect 

examples. The problem in the point of lack of measure of value is that it is 

difficult to determine the exact value of the commodities in exchange. If 

you have a five coconut for example and you want to get a kilo of rice it is 

difficult to measure the real value of coconuts compared to a kilogram of 

rice. So it is done by assumption. In the case of lack of store of value the 

candidates were supposed to know that it is difficult to keep the value of 

these items in exchange for the future use especially for perishable goods. It 

is difficult to store the value of the products like tomatoes, eggs, milk for 

example to be used in future for exchange. 

 

 



22 

In addition, the analysis of the candidates’ responses shows that, although 

the question was well performed, there were 48 (5%) candidates who 

scored low marks ranging from 0 to 6.5. Some candidates, scored marks 

from identifying the reasons for the barter system not existing for a long 

time but they could not elaborate their answers. Most of them could not 

provide relevant examples as per requirement of the question. They also 

had a problem of differentiating some of the problems of barter trade such 

as lack of measure of value, lack of store of value, lack of standard of 

deferred payments and problem the of portability.  

 

Other candidates confused lack of standard of deferred payment as lack of 

standard of making payments on different types of goods or services that 

people are involved in barter trade. Instead they should have explained that 

it is difficult to decide the value of the same product in the future. If 

someone for example need to exchange a piece of land with a cow it is 

difficult to decide the value of that land in three years to come.  

 

There were also some candidates who did not understand the demand of the 

question therefore responded contrary to the requirement. One of the 

candidates for example, explained how aids to trade facilitate trade to take 

place instead of validating the statement given. Furthermore, another 

candidate wrote the benefits of barter trade instead of the limitations as 

follows: the trade does not involve documentation, no foreign exchange 

was involved, it reduced the problem of portability, it promotes mutual and 

social relationship to encourage domestic production. Similarly, other 

candidates in this category explained the functions of money which are 

used as a solution towards the limitation of barter trade. Extract 4.2 is a 

sample of an incorrect response from one of the candidates. 
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Extract 4.2: A sample of an incorrect response to question 4 

 

In extract 4.2 the candidate did not understand the requirement of the 

question. As a result, the candidate’s response was on the comparison of 

aids to trade during the barter system and currently where money is used as 

a medium of exchange in trade.  

 

2.1.5 Question 5: Production 

The candidates were required to analyse the problems facing primary 

production in developing countries. The question examined the candidates’ 

knowledge of primary production and the ability to analyse the problems 

facing primary production. 

This question was attempted by a total of 1071 (79.0%) candidates. Among 

them, 802 (74.9%) candidates scored high marks that ranging from 12 to 20 

and 250 (23.3%) scored average marks from 7 to 11.5. Furthermore, 9 

(1.8%) candidates scored marks ranging from 0 to 6.5 marks. Figure 5 

summarises this performance in percentage.  
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Figure 5: Candidates’ Performance in Question 5 

 

Figure 5 shows that a majority (98.2%) of candidates scored average and 

above. This indicates that the general performance of the candidates in this 

question was good. The candidates who scored average and above were 

able to analyse the problem facing primary production in developing 

countries. The variation of their scores was due to the strengths of their 

explanations and the number of correct points. Some candidates for 

example, responded to the question by giving four instead of six points. 

Other candidates gave four correct points out of the six required points 

which made them score less than 20 marks. 
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Extract 5.1: A sample of a good response to question 5 

 

The candidates with average scores (7 to 11.5marks) were able to analyse 

some problems facing primary production in developing countries. Some of 

these candidates however mixed correct with incorrect responses. One of 

these candidates for example was able to explain the concept such as lack 

of capital, low level of science and technology, poor storage facilities and 
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lack of reliable market. The candidates however included in the response 

such as: availability of good infrastructure, use of modern agricultural 

equipment, availability of water and electricity. These points were 

explained as the strategies for achieving high primary production. Some 

candidate in this category  also provided few points because they assumed 

that primary production is only about agriculture which was a wrong 

perception hence they scored low marks. They forgot that fishing and 

mines are under primary production. 

 

The analysis of the candidates’ performance shows that, despite having 

good performance in this question some candidates scored low marks 

which range from 1.5 to 6.5. Most of these candidates listed few correct 

points and failed to link the points with the demand of the question. One of 

the candidates for example mentioned the points like: lack of market, lack 

of capital, poor infrastructure and government support. The points were 

correct but some of the explanations did not elaborate the points. Another 

candidate treated one point as four points for example: lack of tools, lack of 

cash, lack of machines and lack of money to pay labour were explained as 

four different points whereas it is a single point: lack of capital. Extract 5.2 

is a sample of a response from one of the candidates with low marks in 

question 5.  

 



29 

 
Extract 5.2: A sample of an incorrect response 

 

The explanations on the points mentioned in extract 5.2 did elaborate 

correctly the points. The candidate was also not aware of primary 

production because he/she gave an example of secondary production in 

introduction.  
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2.1.6 Question 6: Retail Trade 

In this question, the candidates were required to explain six advantages of 

multiple shops that make retailers not to regret from engaging in large scale 

retail business. 

 

The question was attempted by a total of 708 (52.3%) candidates. Among 

them, 383 (54.1%) candidates scored high marks that range from 12 to 20 

marks and 102 (28.5%) scored average marks from 7 to 11.5. Furthermore, 

123 (17.4%) candidates scored from 0 to 6.5 marks. Figure 6 summarises 

this performance.  

 

Figure 6: Candidates’ Performance on Question 6 

 

The majority of the candidates 383 (54.1%) performed well in this 

question. Higher scores were attributed to good understanding of the 

requirements of the question for example by showing the meaning of 

multiple shops and explaining the benefits that a retailer enjoys by looking 

at some features of multiple shops. The features include centralized buying 

and decentralized selling; not providing credit facilities to avoid bad debts; 

transfer of product from one shop to another; the issue of decision making; 

advertising the products etc. These shops are located in different places but 

are under central ownership and control. They are advantageous to 

customers and business owners. One candidate explained that: Multiple 

shops are featured by centralized buying and decentralized selling whereby 
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the head office buys the goods direct from the manufacturer and distributes 

them to branches. Thus, it is easy to control the movement of goods and 

profits made at each branch. Also, unlike other types of retailers, multiple 

shops do not allow credit facilities to customers hence there is no chance 

for bad debts. There were some candidates who wrote all the six 

advantages but gave inadequate explanations on few points. Others 

explained correctly four to five points out of the required six. The 

differences in the candidates’ scores depend on: the candidate’s ability to 

clarify the points according to the demands of the question; organization of 

ideas and good essay writing skills. Extract 6.1 is a sample of a good 

response. 
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Extract 6.1: A sample of a good response to question 6 

 

A total of candidates 102 (28.5%) who scored average marks understood 

the requirements of the question but provided less than the six required 

points. These candidates had partial knowledge about the multiple shops. 

Some of these candidates mentioned all the six advantages of the shops but 

did not provide correct explanations on most of the points. There were 
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some candidates who outlined the points but failed to organise their points 

in essay form. 

 

There were a few candidates 123 (17.4%) who performed poorly. The 

analysis shows that the main reason for poor performance was inadequate 

knowledge on the advantages of multiple shops. Most of the candidates in 

this category misinterpreted the demand of the question hence provided 

incorrect responses. Some of them explained advantages of small scale 

retailers. Other candidates mixed the advantages of large scale retailers who 

have multiple shops and the advantages of small scale retailers. Some of the 

candidates mentioned only one or two advantages of the multiple shops. 

These responses showed that these candidates misunderstood the demands 

of the question. Extract 6.2 shows a sample of an incorrect response. 

 
Extract 6.2: A sample of an incorrect response to question 6 
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In extract 6.2 the candidate failed to provide the advantages of multiple 

shops. Instead he/she explained the advantages of small scale retailers 

particularly, single shops. 

 

2.1.7 Question 7: Advertising 

In this question, the candidates were required to give six reasons why the 

Azam Industries in Tanzania have to keep on advertising in despite of its 

popularity. 

 

This question was attempted by a total of 1,215 (89.7%) candidates. 

Among them, 979 (80.6%) candidates scored high marks that range from 

12 to 20 marks and 214 (17.6%) scored average marks ranging from 7 to 

11.5. Furthermore, 22 (1.8%) candidates scored 0 to 6.5 marks. Figure 7 

summarises this performance in percentage.  

 

Figure 7: Candidates’ Performance in Question 7 

 

The performance of the candidates in this question was good because 979 

(80.6%) candidates scored high marks ranging from 12 to 20. This indicates 

that the candidates were familiar with the importance of advertisements in 

the operation of a business in their daily commercial transactions. Majority 

of the candidates in this category were able to correctly explain that 

advertisement is necessary to continue keeping, attracting, persuading and 

convincing customers to buy the products. One candidate for example 
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explained: Apart from letting customers know the products advertising aim 

to increase sales which in turn increases profits and Azam firm must 

advertise its products to create and improve the image of the firm inside 

and outside Tanzania. Another candidate insisted that regardless of how 

popular Azam Industries is, it is necessary to advertise so as to retain those 

customers to the company. This shows that the candidates had adequate 

knowledge on the topic examined that is why they were able to explain the 

role played by advertisements. The variation of marks was due to the 

number of the correct points provided by individual candidates, accuracy 

and adequate explanations as well as good essay writing skills. Extract 7.1 

is a sample of a good response. 
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Extract 13.1: A sample of a good response to question 7 

 

A total of 214 (17.6%) candidates scored average marks ranging from 7 to 

11.5 marks. The responses from these candidates show that they understood 

the requirements of the question but had partial knowledge about 

advertisements. The analysis made in the sampled scripts of these 

candidates revealed that most of these candidates had inadequate 

knowledge on advertisements. Some of these candidates wrote all the 

advantages of advertisements but were unable to provide explanations and 

vivid examples to support their answers. Others candidates in this category 
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were able to explain correctly three to four advantages while others were 

had knowledge on the concept but failed to organise them in essay form.  

 

Although candidates performed well in this question there were 22 (1.8%) 

candidates who had low scores (0 - 6.5) out of the 20 allocated marks. 

Some of these candidates misunderstood the question and explained the 

functions of market instead of the reasons why a popular producer such as 

Azam industries still needs to advertise its products. Other candidates in 

this category mentioned two to four advantages correctly but did not 

provide the required explanations on the advantages. There were some 

candidates who mixture advantages of advertisements with functions of the 

market due to their inadequate knowledge to be able to distinguish the two 

concepts. Such candidate scored a mark only in the introduction. The 

variation of the scores among the candidates depended on the number of 

correct points they gave and the explanations given by the candidate. 

Extract 7.2 is a sample of a candidate’s incorrect response. 

 

 
Extract 7.2.A sample of an incorrect responses to question 7 

 



39 

In extract 7.2.the candidate failed to explain the reasons why Azam Industries 

continues advertising while it is popular, instead he/she explained the 

functions of the market. 

 

2.2 152/2-COMMERCE PAPER 2 

 

2.2.1 Question 1: Marketing 

The question required the candidates to explain three benefits and three 

limitations for a Lishe Bora manager using a personal interview as a 

source of marketing information. The question aimed to test the 

candidates’ understanding on the concept of personal interview in 

marketing the products. 

 

This question was compulsory therefore it was attempted by all 1,355 

(100%) candidates whereby 346 (25.5%) candidates scored from ranging 

from 12 to 20 marks, 772 (57.0%) scored mark ranging from 7 to 11.5 

marks and 237 (17.5%) candidates scored marks ranging from 0 to 6.5 

marks. The highest mark in this question was 18.5 marks. The analysis 

reveals that the candidates’ performance in this question was good. Figure 

9 shows a summary of candidates’ performance in this question.  

 

 

Figure 8: Candidates’ Performance in Question 1 
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There were 346 (25.5%) candidates who performed well in this question. 

These candidates demonstrated good understanding of the topic of 

marketing particular the concept of personal interview. These candidates 

understood that through a personal interview the Lishe Bora marketing 

manager can benefit by getting more information through open ended 

questions. The marketing manager can also be in a position to access the 

body language of the respondents towards Lishe Bora products. These 

candidates were also aware that a personal interview can allow the 

marketing manager to get information that has a high degree of validity 

from the respondents, to obtain unexpected information especially for 

competent interviewers, and to observe the behaviour of the respondents 

towards the products because of a face to face interview. 

The candidates explained the limitations that the Lishe Bora marketing 

manager may face when exercising the personnel interview as a source of 

collecting information about their products. Candidates included points 

like: the response from the interviewee will depend on the mood of the 

two parties; interviewer and the interviewee not clearly presented. This 

method of collecting information about their products may take too long 

therefore may be time consuming. Further the analysis shows that the 

candidates in this category realised that a personal interview is expensive 

as it involves traveling cost and salaries for interviewers. Some candidates 

wrote that: the manager can get incorrect information from the 

respondents therefore it can lead to getting unreliable information. The 

sample size is also limited by budget constraints. Though, the candidates 

provided both the benefits and limitations their scores varied because of 

the explanations they gave on the benefits and limitations. The number of 

points given and good essay writing skills also is used in determining 

candidates’ scores. Candidates failed to score full marks provided partial 

explanations for some points. Extract 8.1 is used to shows a sample of a 

correct response to question I of paper 2. 
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Extract 8.1: A sample of a correct response to question 1 

A total number of 772 (57.0%) candidates whose performance was 

average were able to list some correct points in terms of the benefits and 

limitations but gave incorrect elaboration on some of the points that made 

them to score less marks. Some of these candidates managed to explain 

well the benefits of a personal interview but failed to analyse the 

limitations. Some of these candidates failed to express themselves in 

English language. Other candidates in this category presented their essays 

in good format but explained only three correct points instead of the six 

required points.  

The candidates with weak performance 237 (17.5%) were not able to 

explain the benefits and limitation of a personal interview correctly. They 

had inadequate knowledge and skills on marketing particularly on personal 

interview. One of these candidates for example wrote the benefits; as 
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obtaining detailed for the respondents, it creates employment, and it is 

cheap. The last two points were wrong since the industry wanted to know 

the acceptability of its products to the public and not about employment. 

Furthermore, the point that a personal interview is cheap was incorrect 

because this method is expensive as it involves paying salaries to 

interviewers and sometimes it involves transport costs for the interviewers 

to meet the interviewees. So basically this is limitation and not a benefit. 

Some candidates misunderstood the question instead of explaining the 

benefits and limitations of a personal interview they explained the 

functions of the market such: buying, assembling, sales and transportation 

as benefits of a personal interview. Some candidates failed to differentiate 

the limitations with the benefits while others explained the types of 

marketing. Others candidates failed to explain the benefits of a personal 

interview but mentioned a few correct points on limitations of a personal 

interview such as: It is very expensive since to get reliable information a 

manager needs to use a large sample and qualified interviewers to search 

for the necessary information. The method is time consuming because it is 

not time bounded.  

Some of the candidates in this category scored a zero mark because of 

failure to understand the demands of the question. Some of these 

candidates explained the shortcomings of a personal interview instead of 

the benefits and they gave incorrect limitations. Some of the incorrect 

points given by these candidates include: time management, good number 

of people, buying goods, transport, selling direct to customers at their 

home, visiting customers. This response explained the functions of 

marketing and the advantages of personal selling. The low scores for 

candidates in this category were also due to poor mastery of the English 

language and inadequate knowledge on the concepts related to marketing. 

Extract 9.2 is a sample of response from a candidate who scored low 

marks in that question. 
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Extract 8.2: A sample of an incorrect response to question 1 

 

In extract 8.2 the candidate failed to explain the benefits and limitations of 

a personal interview instead the candidate wrote some concepts related to 

the topic of marketing but could not answer the question. 

 

2.2.2 Question 2: Foreign Trade 

In this question, the candidates were required to explain reasons for the 

government to impose restrictions on international trade. 

 

The question was opted by 1,350 (99.6%) candidates whereby 1,210 

(89.6%) candidates scored marks ranging from 12 to 20 marks, 107 (8%) 
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scored marks ranging from 7 to 11.5 marks and 33 (2.4%) scored marks 

ranging from 0 to 6.5 marks out of the 20 allocated marks. The candidates’ 

performance in this question was good. Figure 10 shows a summary of the 

candidates’ performance in question 2 of paper 2. 

 

 
 

Figure 9: Candidates’ Performance on question 2 

 

The candidates 1,210 (89.6%) who scored high marks in this question 

pounded correct reasons for the government to impose restrictions on 

international trade. These candidates had knowledge and clear 

understanding of the concept of international trade. They were able to 

relate the concept with the demands of the question. A few candidates 

(3%) scored all 20 marks in this category. They mastered the concept. This 

was illustrated in the introduction, main body and conclusion. They gave 

good explanations. The responses given by these candidates included: 

Restrictions on international trade particularly on imports enable a 

country to protect infant industries by creating a market for home based 

infant industries, through international trade restrictions basic industries 

which are the key for the development of other industries are protected, 

control of dumping, creation of favourable balance of payment, it enables 

a country to produce a variety of goods as substitutes to imports whereby 

those goods which were formerly imported will be locally produced for the 

growth and prosperity of the home industries. The candidates who failed 



47 

to score full marks in this category provided all correct points but gave 

inadequate explanations on some of the points or at least five out of the 

required six. Some of these gave all the correct reasons but they did not 

give a conclusion of their response. Extract 10.1 is a sample of a response 

from a candidate who scored high marks. 
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Extract 9.1: A sample of a correct response to question 2 

 

The candidates who scored marks ranging from 7 to 11.5 marks were able 

to provide at least three correct points out of the six required. The analysis 

from the candidates’ scripts shows that these candidates understood the 

question but had inadequate knowledge about international trade. Most of 

these candidates were able to give and explain some correct points but 

provided wrong examples. Some of these candidates’ explanations were 

wrong in some of the points, for example, some confused explanations of 

some correct points provided. 

Although this question was well performed a few candidates 33 (2.4%) 

scored low marks as they failed to explain the reasons which make 

countries impose restrictions on international trade. These candidates had 

inadequate knowledge of the topic of foreign trade, particularly on the 

reasons for imposing trade restrictions. Some candidates explained the 

reasons against restrictions instead of those for imposing restrictions. One 

of the candidates for example, argued that trade restrictions remove the 
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local industries in competition with the foreign industries by giving them 

monopoly power and this makes them continue to produce goods of poor 

quality, it is a source of shortage of goods in the market and it influences 

increase in the price of the goods. Some candidates also scored some marks 

on the point of the protection of the domestic industries. These candidates 

highlighted the points such as balance of payment but they failed to relate 

their explanations with trade restrictions instead they gave the meaning of 

the term balance of payment. Repetition of the points was another 

weakness noted in the analysis of responses from the candidates in this 

category. Extract 10.2 is a sample of a response from a candidate who 

scored low marks. 

Extract 10.2 
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Extract 9.2: A sample of an incorrect response to question 2 

 

In extract 9.2 the candidate explained the reasons for international trade 

instead explaining the need for trade restrictions on international trade. 

 

2.2.3 Question 3: Business Organisation and Management 

The candidates were required to respond to the interviewer by explaining 

the importance of planning for industry and the criteria of a good plan. 

 

The question was opted by 795 (58.7%) candidates, whereby 471 

candidates (59.2%) scored marks ranging from 12 to 20 marks, 269 

(33.9%) scored marks ranging from 7 to 11.5 marks and 52 (6.9%) scored 

marks ranging from 0 to 6.5 marks. The candidates’ performance in this 

question was good. Figure 11 summarises the candidates’ performance in 

question 3 of paper 2.  

 

 
 

Figure 10: Candidates’ Performance in Question 3 
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The 471 (59.2%) candidates who scored high marks understood the 

requirements of the question and had adequate knowledge of the concept. 

These candidates explained planning as the process of setting the 

objectives and formulating strategies to achieve these objectives. These 

candidates understood the benefits of planning; they explained that 

because of planning it is easy to offset uncertainty and changes since no 

one is certain about future events. These candidates were also aware that if 

an organization makes use of a plan it is possible to perform its tasks 

efficiently using low cost of operation. This is because there will be no 

wastage of resources in terms of time, labour and materials. Planning is 

regarded as a standard of measurement. It facilitates better coordination in 

the organisation and encourages innovation and creativity in the 

organization. Many candidates in this category were able to explain the 

need for planning as required in the question. There were some candidates 

who provided all the three criteria for a good plan but their explanations 

on some points was not  adequate hence they did not get the full marks 

allocated. The criteria for a good plan include: It should lay down clearly 

the nature of its mission and objectives, it should give out a clear 

provision of measure to achieve the objectives satisfactorily, it should 

guide those who are engaged in the accomplishment of the objective of the 

plan. Most of these candidates managed to explain the importance of 

planning and the criteria for a good plan despite a few discrepancies 

observed in their responses such as inadequate elaboration on some points. 

The candidates who scored full marks were able to give correct responses 

together with relevant examples. Their answers were well organised and 

had an introduction and conclusion. Extract 11.1 is a sample of the 

response from a candidate who scored high marks. 
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Extract 10.1: A sample of a good response to question 3  

 

The analysis shows that the 269 (33.9%) candidates who got average 

performance understood the requirements of the question and were able to 

provide at least two correct points on the importance of planning and two 

correct points on the criteria for effective good plan according to the 

demands of the question. Some of these candidates were able to analyse 

the importance of planning, but failed to give correct criteria for effective 

good plan. Other candidates explained the importance of planning giving 

at least one correct criterion for a good plan. There were candidates in this 

category who write almost all the correct points on the importance of 

planning and the criteria for a good plan but they failed to give correct 

explanations on those points.  
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A few 52 (6.9%) candidates who scored marks ranging from 0 to 6.5 

marks were unable to explain the importance of planning and the criteria 

for a good plan. Among these candidates, some mentioned correct points 

on the importance of planning but gave inadequate explanations and 

incorrect criteria for a good plan. Other candidates in this category 

explained at least one correct point on the importance of planning but 

mixed the criteria with the functions of management. Some of the 

candidates wrote the importance of planning but did provide correct 

explanations. Some of the incorrect points on the criteria a good plan 

given by one candidate include: A good plan must be attractive, a good 

plan must obey the principle of simplicity and a good plan is within 

convenience and must be short. Some of the candidates with low scores 

misinterpreted the question and wrote the disadvantages of planning 

instead of its importance. Some candidates skipped some parts of the 

question. The reasons for low scores included inadequate knowledge of 

the concept of planning in Business management and organisation, 

misconceptions of the requirements of the question and lack of 

seriousness. Extract 11.2 illustrates a sample of the candidates’ poor 

response. 
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Extract 10.2: A sample of an incorrect response to question 3 

 

In extract10.2 the candidate wrote the criteria for a person to be employed instead 

of the importance of planning and the criteria for a good plan.  

 

2.2.4 Question 4: Contract of Sales. 

The candidates were required to analyse three rules on the transfer of 

property and three rules regarding the delivery of property.  

This question was opted for by 228 (16.8%) candidates out of whom 54 

(23.7%) candidates scored marks ranging  from 12 to 20 marks, 86 (35.1%) 

scored marks ranging from 7 to 11.5 marks and 94 (41.2%) scored marks 

ranging from 0 to 6.5 marks. 
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Figure 11: Candidates’ Performance on Question 4 

The candidates’ performance in this question was average as 58.8 percent 

scored marks ranging from 7 to 20.  

The analysis shows that 54 (23.7%) candidates with good performance 

knew the rules of the delivery of goods. They explained for example that 

when goods are in delivery state the ownership of the property move from 

the seller to the buyer as soon as the contract is made. They also understood 

that the seller should prepare or make the goods purchasable condition 

because property does not move from the seller to the buyer until the 

process is completed and a buyer has a notice thereof. In contact of sale, 

transfer of the property to the buyer occurs when the goods have been 

ascertained, identified and valued. The analysis also shows that some 

candidates wrote points such as: it is when goods are sold on approval 

basis or sales on return basis but they could not provide detailed 

explanations. Majority of the candidates in this category were able to 

provide the three rules of the transfer of property and three needs of the 

delivery of property. Some candidates explained only two correct points out 

of the required three the transfer of the property and delivery of the 
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property respectively. However, some of the candidates did not provide a 

comprehensive elaboration on some of the points. Only one of these 

candidates scored all 20 allocated marks as he/she was able to exhaust all 

the required points and explained in details the three rules on the transfer of 

property and the three rules on the delivery of property. Extract 12.1 shows 

a sample of a response from a candidate who scored high marks. 
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Extract 11.1: A sample of a correct response to question 4 

 

The 86 (35.1%) candidates who scored average marks had some 

weaknesses in their responses. Some of these candidates failed to explain 

correctly the rules of the transfer of property but they explained correctly 

the rules of the delivery of goods.  There were some candidates who 

managed to explain the three rules of the transfer of the property and failed 

to explain three rules of the delivery of goods. The majority of the 

candidates in this category managed at least to give two points for the rules 

the transfer of property and two points on the rules of the delivery of goods. 

The clarity of the responses varied from one candidate to another hence the 

variation in scores. 

A total 94 (41.2%) candidates who had low scores ranging from 0 to 6.5 

marks, had inadequate knowledge on the concept of contract of sales. Most 

of these candidates managed to explain a few correct points while others 

outlined the points without any elaboration. Some other candidates in this 

category were not able to provide correct answers on either the rules of 

transfer or delivery of goods. There were a few candidates who discussed 

the rules of the transfer of goods only whereas the question also demanded 

all the rules of transfer and delivery of goods because the two processes are 

related. Some of the candidates under this category were unable to provide 

a relevant introduction and conclusion. Extract 12.2 is a sample of an 

incorrect response. 
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Extract 11.2: A sample of an incorrect response to question 4 

 

The extract 11.2: is a sample of an incorrect response from a candidate who 

explained some essentials of a valid contract instead analysing the rules of 

the transfer of goods and the rules of the delivery of goods. 
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2.2.5 Question 5: Import Trade 

The candidates were required to explain the procedures that a tourist 

company in Arusha Tanzania needs to follow to buy two different cars 

from Japan 

It was an optional question which was opted for by 680 (50.2%) candidates 

only. The candidates’ performance in this question was average since 127 

candidates (17.4%) scored from 12 to 20 marks, 231 (33.9.0%) scored from 

7 to 11.5 marks and 331 (48.7%) scored from 0 to 6.5 marks. Figure 14 

summarises the candidates’ performance in this question. 

 

Figure 12: Candidates’ Performance in Question 5. 

 

The candidates 127 (17.4%) who scored from 12 to 20 marks were able to 

explain the procedures that the tourist company in Arusha should take into 

consideration when buying the two tourist cars from Japan. The response 

from the candidates who scored high marks revealed a good understanding 

of import trade procedures. The procedures to be followed can be it two 

ways depending on the terms of payment. This depends on if the tourist 

company in Arusha has to ask for credit from a bank or has cash money to 

pay for the transaction. If the customer buys on credit the letter of credit 

must be included in the procedure to facilitate credit. Most of the 

candidates were familiar with the procedures involved with credit 

transactions. They were able to explain most of the procedures correctly but 

some among them confused procedure number three; arrangement for 
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placing an order with number four, dispatching letter of credit. The rest of 

the procedures were correctly followed although a few candidates gave 

insufficient explanations to few points. The extent of clarity of explanation 

differed from one candidate to another leading to variation in scores. 

Extract 13.1 is a sample of a correct response. 
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Extract 12.1: A sample of a correct response to question 5  

Candidates 231 (34%) who scored from 7 to 11.5 marks were able to 

provide at least four correct procedures with correct explanations. Majority 

of them managed to give some explanations on the procedures but were not 

able not point out clearly the purpose of each procedures and the 

preparation of a letter of credit before goods have been shipped. Some of 

these candidates’ responses included all the eight procedures but with 

unsatisfactory explanations and not good order. The variation of the scores 

among the candidates depended on the correctness of the points explained. 

A total of 331 (48.7%) candidates had weak performance because of 

inadequate knowledge of the topic of import trade especially on the 

procedures of importing goods from the rest of the world. Most of them 

answered the question partially in all the procedures or answered only one 

procedure correctly. Some of these candidates failed to arrange the 

procedures of importing cars from Japan to Tanzania chronologically. 

Other candidates in this category misinterpreted the question because they 

failed to distinguish export from import procedures in international trade 

they did not answer the question accordingly. Some of these candidates 

demonstrated a poor understanding of the procedures of importing goods 
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from abroad. They wrote some documents which are used in international 

trade such as: consular invoice, letter of credit, indent, documentary bill of 

lading, letter of enquiry and import license. They could not explain the use 

of these documents in international trade to answer correctly the demands 

of the question. There were also some candidates who failed to explain any 

of the procedures correctly. Other factors contributing to low scores were 

poor mastery of English language, insufficient technical and practical skills 

and inadequate knowledge of the subject matter. Extract 13.2 shows a 

sample of an incorrect response. 
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Extract 13.2: A sample of an incorrect response to question 5 

 

In extract 13.2 the candidate wrote a few import procedures in a random order 

giving some incorrect explanations.  

 

2.2.6 Question 6: Business Units 

The candidates were required to explain to Mr. Siwazi six (6) advantages 

he will benefit for being in partnership which cannot be found in sole 

proprietorship. 

It was an optional question which was opted by 1,201 (90.8%) candidates. 

The candidates’ performance in this question was good since 1201 

candidates (90.8%) scored from 12 to 20 marks, 115 (8.7%) scored from 7 

to 11.5 marks and 7 (0.5%) scored from 0 to 6.5 marks. Figure 13 

summarises the candidates’ performance in this question. 
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Figure 13: Candidates’ Performance on Question 6 

 

The total of 1,201 (90.8%) candidates who scored high marks showed a 

good understanding of the benefits of partnership business over sole 

proprietor ship. They used the benefits of partnership such as: loses 

sharing, limited liability, good decision making, cost sharing, collective 

management and high amount of capital which are not found in sole 

proprietorship to convince Mr. Siwazi to join the partnership business. The 

extent of clarity of the points varied from one candidate to another leading 

to variation of scores Extract 13.1 is a sample of a good response. 
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Extract 13.1: A sample of a correct response to question 6 

 

115 (8.7%) a candidate with average performance had inadequate 

knowledge of business units. The candidates partially explained most of 

the correct points and had in some cases irrelevant explanations. Some of 
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these candidates gave at least three correct points out of the required six 

points. Most of these candidates’ responses included inadequate 

explanations on some points, insufficient number of points and incorrect 

explanations. One of the candidates for example confused the advantages 

of sole proprietorship with those partnership other candidates in this 

category explained the advantages generally without giving distinction.  

 

The candidates 7 (0.5%) with weak performance scored from 0 to 6.5 

marks. They were unable to differentiate the terms sole proprietorship and 

partnership. They provided the advantages of sole proprietorship generally 

without distinction with the advantages of partnerships. Some of these 

candidates were able to mention some advantages of sole proprietorship 

but provided unrelated explanations. Most of these candidates elaborated 

the general advantages of sole proprietorship instead of the benefits or 

advantages of being engaged in a partnership versus sole proprietorship. 

Extract 14.2 presents a sample of the incorrect response from one of the 

candidates. 
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Extract 14.1: A sample of an incorrect response question 6 

 

In extract 14.1 the candidate explained the advantages of sole 

proprietorship over those of partnership instead of using the advantages 

of partnership versus those of sole proprietorship to convince Mr. Siwazi 

to join the partnership. 

 

2.2.7 Question 7: Export Trade 

The candidates were required to explain how tourism as invisible export 

contributes to the development of commerce in Tanzania.  

The question was opted by 1,036 (76.5%) candidates out of which 682 

candidates (65.8%) scored from 12 to 20 marks, 312 candidates (30.1%) 

scored from 7.0 to 11.5 marks and 42 candidates (4.1%) scored from 0 to 

6.5 marks. The overall candidates’ performance in this question was good. 

Figure 14 summarises the candidates’ performance in this question. 



76 

 

Figure 14: Candidates’ Performance in question 7 

 

The candidates who performed well in this question had adequate 

knowledge of export trade. In addition, they managed to reflect on the 

different commercial activities carried out between Tanzania and the rest of 

the world. Some of them provided relevant examples to support their 

answers to the concept examined. The variation of the candidates’ scores 

was determined by the number of correct points provided, the clarity of the 

points given and essay writing skills applied. Extract 14.1 shows a sample 

of the candidates’ good response. 
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Extract 14.1: A sample of a correct response to question 7  

Although there was good performance in this question, a few candidates 

312 (30.1%) scored average marks. They understood the demand of the 

question but failed to explain how export trade can improve commercial 

activities as well as the Tanzanian economy. Some of the candidates in 

this category provided partial explanations on some of their points. Most 
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of the candidates in this category were able to explain in detail three out of 

the required six points. Some of these candidates in this category provided 

more than three points but they were not able to provide satisfactory 

explanations on some points. The difference of the scores among the 

candidates depended on the accuracy of the points provided.  

42 (4.1%) candidates with weak performance scored from 0.5 to 6.5 

marks. These candidates had inadequate knowledge of export trade 

especially on export of services. They gave answers on exportation of 

goods while the question was on export of services. Some of these 

candidates explained the limitations of export trade while others explained 

the problems of foreign trade in general. Some of these candidates wrote 

incorrect responses such as: to protect home industries, to increase 

production, to encourage competition, to improve balance of payment, and 

to control the consumption of harmful products. This shows that they did 

not to understand the question and had partial knowledge of the topic. 

Extract 14.2 is a sample of an incorrect response from one of the 

candidates who scored low marks. 
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Extract 14.2: A sample of an incorrect response to question 7 

In extract 14.2 candidate did not explain how tourism as an invisible export 

contributes to the development of commerce in Tanzania. Instead the 

candidate explained the disadvantages of international trade. 
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3.0 ANALYSIS OF THE CANDIDATES’ PERFORMANCE ON EACH 

TOPIC 

The analysis done on candidates’ performance on each topic showed that, 

12 topics out of 14 topics that were examined had good performance. These 

topics include: Business Units (99.8%), Banking (98.3%), Advertising 

(98.2%), Production (98.2%), Foreign Trade (97.5%), Export Trade 

(95.9%), Scope of Commerce (95.0%), Business Management and 

Organisation (93.0%), Transport and Communication (92.1%), Stock 

Exchange (87.8%), Domestic Trade (82.6%) and Marketing (82.5%). The 

candidates’ good performance in these topics was due to the fact that the 

candidates understood well the topics examined. The candidates were also 

able to identify the demands of the questions. 

 

The analysis shows that two topics which are: Contract of sales (58.8%) 

and Import trade (51.4%) had average performance. The reasons for the 

average performance in these topics because candidates had partial 

knowledge on the topics examined and therefore provided unsatisfactory 

responses. Lack of English Language proficiency was also one of the 

reasons for the candidates failing to provide explanations on some correct 

points given. The candidates’ performance on each topic is summarised in 

the Appendix. 

 

4.0 CONCLUSION AND RECOMMENDATIONS 

4.1 Conclusion 

Candidates’ had good performance (99.85%) in 152 Commerce 

subject because of a number of factors such as: competence on the 

topics examined, ability to follow the examination instructions, 

proficiency in English language and good essay writing skills. 

Candidates with performance had inadequate knowledge and skills 

some of the topics. They also failed to relate the demands of the 

questions with the real environment. The candidates who scored low 

marks lacked knowledge on some the topics tested. They also failed 

to interpret the demands of some of the the questions.  
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4.2 Recommendations 

The candidates’ performance in Commerce Subject can be improved 

in the future if the following is done:  

(a) Students should learn how to relate the demands of the 

question with their environment/reality. This will help the 

students not only to recall what they have leant in the 

classroom but to understand and apply what they have also 

leant.  

(b) Teachers should arrange for field trips to let the students to 

reflect on what they learnt in the class based on the reality in 

the field. In the teaching and learning process for example, 

students can be taken to commercial banks, Dar es Salaam 

stock exchange and different import offices so as to become 

familiar with banking, stock exchange and import trade topics. 

(c) Teachers should assist students by giving them many tests and 

quizzes, marking them and providing feedback to improve 

their performance.  

(d) Teachers should arrange for debates among the students to 

clear some misconceptions on some topics especially the 

topics with average performance. 
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Appendix 

A Summary of the Analysis of the Candidates’ Performance on each Topic  
S
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1 Business Units  1 99.5 Good 

2 Banking  1 98.3 Good 

3 Advertising 1 98.2 Good 

4. Production  1 98.2 
Good 

5 Foreign Trade  1 97.5 
Good 

6 Export Trade  1 95.9 
Good 

7. Scope of Commerce  1 95 
Good 

8. 
Business Management and 

Organisation 
1 93.0 

Good 

9 
Transport and 

Communication 
1 92.1 

Good 

10 Stock Exchange 1 87.8 
Good 

11 Domestic Trade 1 82.6 
Good 

12 Marketing  1 82.5 
Good 

13 Contract of Sales  1 58.8 
Average 

14 Import Trade  1 51.4 Average 

 

 






